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_ FER-R2FE/ FEHR=314FE SERMDEE (F0FE
I - =
AE 2| % e =
F # m & HiExL%E g F & | BIRE HiEE
Xt (F) (a) (M) (H) (F) (kg) (M)
thR R 2,251 74,312. 4| 2,916, 030, 000 37,411,332 — — —
2,483 82, 757.5| 3, 166, 700, 000 40, 524, 938 762| 1, 793, 687| 302, 541, 900
_ 570 10, 343. 2 322, 330, 000 6,764,223 — — —
LA 649 12, 825. 7 384, 700, 000 8, 356, 535 160| 200, 038| 26, 505, 600
S E %R 205 4, 899. 1 177, 470, 000 3,310,792 — — —
H 222 5, 244. 9 191, 140, 000 3, 498, 217 95 147, 765| 28,510, 500
P 3, 026 89, 554. 7| 3,415, 830, 000 47,486, 347l — — —
=R 3,354| 100, 828.1| 3,742, 540, 000 52,379,690 1,017| 2, 141, 490| 357, 558, 000
5% o o o H30
= 44 63,771 12,119, 800
XA 90. 2% 88. 8% 91. 3% 90. 7%| 2311.4%| 3358. 1% 2950. 2%
() —a FHEFRIBEEER [SES) L
_ L ER=R2EE/ TBR=31FE SERDBE L0FE
I = =
AE 2| 2 %& =
F# [T HEE%E B & F & | BIRE HiExE
X (F) (a) (M) (M) (F) (kg) (M)
th R 1, 354 44,856. 4] 1,927, 780, 000 21, 846,092 — —
1, 466 48,804.2| 2,011, 070, 000 22,363, 172 412 824, 312| 149, 976, 400
_ 181 2,862.9 123, 780, 000 1,719,942 — —
ij ) . ) ) ) )
M7 NI AXE 202 3,379. 1 138, 190, 000 1, 908, 769 40 42,978| 8, 219, 000
S E %R 90 1,857.8 84, 990, 000 1,479,495 — — —
H 96 1,941.9 86, 800, 000 1, 579, 845 30 37,076| 11,953,900
P 1,625 49,577. 1] 2, 136, 550, 000 25,045,529 — — —
= oA 1,764 54,125.2| 2,236, 060, 000 25, 851, 786 482 904, 366| 170, 149, 300
5% o o o o H30
= 35 55, 864| 11,244, 400
SETELE 92. 1% 91. 6% 95. 5% 96. 9%| 1377.1%| 1618. 9% 1513. 2%
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_ FER-R2FE/ FEH=31FE SERMDEE (F0FE
I = =
=& 3| % i =
F# | @ % HEEE EVE:: F & | BRE HFEE
XA (B) (a) (M) (R (F) (kg) (M)
th sk R 718  25,735.7 908, 910, 000 11,742,414 — — —
822|  29,841.5| 1,067,370, 000 13, 603, 323 282| 865,491 138, 361, 600
_ 182 3,919. 8 115, 930, 000 1,376, 714 — — —
l/j ’ . ’ ’ k) k)
M7 N TAZ 204 5,033. 4 146, 340, 000 1, 655, 882 21| 29,407 2,659,600
S E T 63 2,133.0 74, 090, 000 797,787  — — —
: 73 2,411. 4 86, 060, 000 949, 415 45| 90, 733| 14,428, 000
P 963|  31,788.5| 1,098, 930, 000 13,916,915 — — —
=R 1,099  37,286.3| 1,299,770, 000 16, 208, 620 348| 985, 631 155, 449, 200
5% _ . _ . H30
= 3 2,333 460, 000
XA LE 87. 6% 85. 3% 84. 5% 85. 9%| 11600. 0%| 42247.4%|  33793. 3%
() —c FEFBREEERE [T1 4] .
_ L ER=R2EE/ TBR=31FE SERDBE L0FE
I = =
B 3l 2 " =
F#% | @ & HEEE HuREE F & | BRE HES
XA =) (a) (M) (M) (B) (kg) (M)
- 179 3,720.3 79, 340, 000 3,822,826] — —
R 195 4,111.8 88, 260, 000 4, 558, 443 68| 103,884 14,203,900
R 207 3, 560. 5 82, 620, 000 3,667,567 — —
243 4,413.2 100, 170, 000 4,791, 884 99| 127,653| 15,627,000
P 16 226.8 4,770, 000 287,095| — — —
ALEBZ PR 17 215.0 4, 390, 000 272, 653 13 7,121| 1,160, 200
P 402 7,507. 6 166, 730, 000 7,777,488)  — — —
=B 455 8, 740.0 192, 820, 000 9, 622, 980 180| 238,658 30,991, 100
H30
= — — — —
o5 2 1, 150 195, 500
X AT L 88. 4% 85. 9% 86. 5% 80. 8%| 9000. 0%| 20752.9%  15852. 2%




() —d

FHEFBREEERE (YA C]

_ FER-R2FE/ FEHR=314FE SERMDEE (F0FE
RE 2| % e =
F # [T HEL%E g F & | BIRE HiEE
X (F) (a) (M) (M) () (kg) (M)
- 0 0.0 0 of — — —
R 0 0.0 0 0 0 0 0
R 36 681.5 13, 620, 000 746,415 — — —
AL AR SR 36 676. 6 13, 890, 000 696, 304 7 12, 835 968, 400
o 36 681.5 13, 620, 000 746,415 — — —
= A 36 676. 6 13, 890, 000 696, 304 7 12, 835 968, 400
H30
,-;5 _ _ _ _
il 4 4, 424 219, 900
XA 100. 0% 100. 7% 98. 1% 107. 2% 175. 0% 290. 1% 440. 4%




